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33.5.2
25b (7 mawmp) > 26b (3p°0)

I 7 mwn: continuation of dispute »ov "1/n"1 about mixed declarations (II)
a  If he had an 1%y and o'n%w before him, pointed to a 1’1 nnna and declared om5w nnn ,n%Y NN it M
i p”r the first thing he declares defines the expression 1%y n1nn
ii ~ »pp 77 if this is what he intended, it is valid (2 animal is a mix, let it graze, use %2 funds for N5 nmnn, ¥z for vn)
1 But if he changed his mind after declaring n%y nmnn, then it is a n%w nmnn
iii  pn 7's limitation of the dispute: if he made the mmnn sequential, all agree that the first declaration counts for all
1 and: if he made the 24 nmnn dependent on the success of the 1%t — both apply
2 only disagree: in case like our mwn, where he stated ©n>w NN ,n%Y NMNN
(a) »77: he could have said Dn%w-n%1» nnn; by adding a 2"4 nmnn, he intended to separate them 15 counts
(b) o1 1. had he said on5w n%1Y nnn, would have been namp NPRY NVITP — H"Np
iv a3z if he identifies an animal as “%2 % n1nn and %2 onow nnn”
1 p77all 0%y nnn
2 opom letit graze, use funds for Y2 of an Ny and V2 for a nHw
3 pp 7. if this is what he intended all along, since he couldn’t say this differently, his declaration is valid
(a) mnote: »ov " is the same position as ©'nIN = DNIN" in RN»I2 is "0V
v Nn77x if someone designates an animal as V2 N9y, %2 nron
1 p7allany
2 ppyitdies (as a oya "n9om”w nrvN)
3 but: if he switched the order, n" agrees that it dies
(a) challenge: this is obvious - after all, n"1’s position is to allow the first declaration to trump all
(b) defense: we might have thought that his position was that a “mixed nxon” was offered as no1» >%"np
vi  A17773 if someone declared an animal to be Y2 n9p, Y2 ombw — it is w11 but not offered and its n1nn takes on the same
1 author: must be »ov "1 — in which case this is obvious
2 defense: R"10 that even though the index animal isn’t 21p, the NN was intended for nam
(a) but:just as the index animal is 1" N7 "NWITP, so too, the NN comes from nINT "WVITP = not 27p
vii 77 if mw is wr1pn his V2 of an animal, then buys rest and is w»Tpn it>w17p, not 17p, makes NN & NN is same
1 inferencel: mnT NVYTP can be rejected (D'nT2 N7 W)
2 inference2: rejection can affect living animals (o'nT1 n»n *Hya)
3 inference3: rejection can happen ab initio (R7p°»n "NT W’ —no “fitness” needed as prerequisite for nnT)
viii »an: all agree that if he declares that an animal be %2 0% and %2 nnna qwyn — it is all n%w
1 however: if he declared that %2 be nmnn and %2 7wyn — which trumps?
(a) /7w may trump, as it applies to all »wp
(b) 7wYm may trump, as it is wTpn beforehand and afterwards (as #9 and #11 may be 1wyn if counted in error) yp'n
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